6HP

Petrol Engine
E6.01VEL/LC1P70FC

OWNERS MANUAL

Cox Industries (Aust) Pty Ltd  www.coxmowers.com.au













Follow the instructions represented by these symbols when maintaining:

!'; Used oil : Used special tool -—@ : Used grease

oxo(0): Indicates flange bolt model, length and quantity.
P. : Indicates pages

1.3 Serial number location

The serial number on stamped on the crankcase, as shown on the following drawing when inquiring
about engine or ordering parts in order to get correct parts for the unit being serviced by LONCIN
INDUSTRIAL CO., Ltd's dealer

1.4 Torque values

Note: For

ENGINE TYPE
SERIAL NUMBER

Item Screw Thread Torque (N-m)
cylinder head bolt M8x1.25 24
connecting rod bolt M7x1.0 12
flywheel nut M14x1. 5 special nut) 70-80
Pivot Adjusting Nut M6x0.5 (special nut) 10
Pivot arm bolt M8x1.25 24
M6x1.0 12
crankcase cover bolt
M8x1.25 24
Muffler nut M6x1.0 9
air cleaner nut M6x1.0 8.5
Recoil (fan cover ) nut M6x1.0 85
oil drain bolt M10x1.25 18
fuel tank bolt/nut M6x1.0 10
Governor arm pinch nut M6x1.0 10
M5 bolt, nut 55
M6 bolt nut 10
standard torque value M8 bolt nut 22
M10 bolt nut 35
M12 55

unspecified bolts and nuts listed above, refer to the table of standard torque values.












b. Starting trouble

1. First, check fuel level

—_

Add fuel and restart

No fuel
KHa\ie fuel

2. Check oil level

— Oil level low —»|

Add oil to high oil lever

Olil level normal

¥

3. Reassemble spark plug and

check electrode

Check oil tube or filter clogged

Check carburetor, nozzle tube

— Dry > | clogged.
Wet ———> Wash electrode, and check
throttle open.

v

4. Put the spark plug on the cap,
connect electrode to grounding
then, pull the starter and check
igniting.

spark

Good spark

6. 6f weak __.l Replace new spark plug, recheck

the igniting state. Check high
voltage lead if switching off or
broken or creepaging. Check

igniter coils.

v

5. Inspecting cylinder pressure:
Put the pressure meter on the
spark plug hole and pull starter,

check pressure.

Pressure

insufficient.

A

6. Assemble spark plug correct,

restart engine to test.

Check valve gap if correct.
Check
tightened.

Check combustion chamber if

cylinder  cover if

damaged.
Check pad, wvalve or valve

retainer

Check cylinder pressure

1) Disassemble spark plug cap and spark plug.
2) Assemble pressure meter in the spark plug hole.

3) Pull recoil starter several times to measure cylinder

pressure

Cylinder
pressure

At 600rpm,
6.0-8.5 Kgf/cm?

Pressure meter

DITTT



c. Starting poor

Good
Starting F:he-‘,c.k el Check  [spark
t tate. —_ > :
poor simgstate by new 7| Replacing spark plug
Spark  plug No | spark
gap spark plug
0.7-0.8mm
Switch off o . .
A g » | Engine switch
7| the black g
trouble
lead, and
No recheck.
spark
High voltage | _ 4 Igniting
»| broken and Paic coil
creepaging insulating trouble
Replacing
igniting
o Affirm coils
resistance of | Wrong

the first and | Tesistance

second class value

of  igniting

coils,

Checking spark

1) Remove spark plug

2) Put the spark plug on the spark cap

3) Connect (—) electrode of the spark plug (thread) to grounding, pull starter to check if there is spark
at the electrode joint.

PN WARNING

Don’t grape spark terminal by wet hand when

testing.

If touching the high voltage line by wet hand,
pulling starter can produce high voltage Spark plug
electric, being danger.

Sprinkled fuel can cause fire around the spark
plug. First, clean the fuel, then check. When
checking, keep far away from the spark plug
hole.
















2.2 Dimensional drawings

8°6v¢ oF

3/8-24UNF-2B

692 —gos 1 o et

©25.4
2z
+
A=A

—3/8-24UNF-28B

T

X2
AN A
|

L

.84

1P61FA Dimensions Unit:mm
1P65FA Dimensions Unit:mm

type

B



1P70F/1P6BFA/1P70FA  unit: mm

280

61.9(B)

=]
SSH—
430
80.8(C)

©

365

o

Engine Moun ngine Mount
Surioke Sur
o) o z
3 R | : . #
=i o @6 = © M ©
w =l o o
h ol § ©| o i o
A / » A ©
RN 2
! : S0 N A . | Q o
i -t o 3
A e M A
| I G =
1 EaLn ,;,t 1y
A—A f I
A—A
3/8-24UNF—2B oy .o 8.4 S/8F24UNF2B 8.4
- T
5] 3
ool =
& oc!
S &
lg)' o~
o~
& T -
3
& 5.6 e So
9 ¢
5 :
2 <
e
&l

M

T ; (C—tvne
e y p/ o N - >/ bt Noi


































4.3 Control level

Removal / installation

/,\L/AY\\\..,

AN
..v- b ..a«ll/

\

CARBURETOR INSULATOR

SPRING B
GOVERNOR SPRING

GOVERNOR ROD

G wnao‘

é,r':lﬂ'.

v/ am——
) fF

SCREW M5X16

CARBURETOR GASKET
BOLT M6X12(2) =l

CARBURETOR
CHOKE RO

CONTROL LEVEL

GOVERNOR ARM

GOVERNOR ARM BOLT






4.5 Ignition coil

Igniting coil gap adjustment

When reassembling igniting coil, adjust the igniting

coil gap.

1) Lightly tighten the igniting coil mounting bolt.

2) Insert the feeler gauge or a piece of paper of the
same thickness between the flywheel and coil as

IGNITING COIL

° OQ

shown. FLYWHEEL 0.4+0. 2mm
3) Push the coil against the flywheel by hand and
tighten the two bolts. \ &

| Igniting coil gap | 0.4+0.2 mm |

Adjust both ends of the coil to the same gap.
Avoid the magnet portion of the flywheel when adjusting.

c. Inspection

Igniting coil:

<Primary coil>

Put the tester terminal and lead terminal to contact with

iron core of coil, and measure the primary coil resistance.
Primary coil resistance | 0.8-1.0Q |

<Secondary coil>
Put the tester terminal and removed spark plug cap’s high
tension cord to contact with iron cord and measure the
secondary coil resistance.

Secondary coil resistance |5.9-7.1 KQ |

A false reading will result if the spark plug cap is not
removed.

Spark plug cap:

Put the tester to contact the two end  of the spark plug
cap and measure spark plug cap resistance

| Resistance | 7.5-125KQ |

If the resistance is out of the specification, replace the
spark plug.

Spark plug cap



























4.8 Crankcase cover / governor

Disassembly / reassembly
Governor

» Before installing, check for gear

& mm PLAIN wear or damage.

WASHER » Insert pins pointed end first.
» Check that the weights move
smoothly.

Check that the governor

move smoothly.

6 x 18 mm FLANGE BOLT

[10Nm (1.0 kgm. 7 i) | e

8X10 mm
DOWEL PIN(2)

4—16












Valve timing

After installing the crankshatft, install the
camshaft

by aligning the marks on the timing gears.

CAMSHAFT

Timing gear
Disassembly:
1. scribe a line on the crankshaft and the timing
gear tooth as shown.
2. use a hydraulic press and a commercially
available bearing puller to remove the timing gear.
Reassembly:
1. using the old gear for reference, scribe a line at
the same position on the new timing gear tooth. :
2. use a hydraulic press and the special tool to MARKINGS
press the timing gear in with the scribed marks
aligned.

Do not scribe the crankshaft deeply. Otherwise,

oil may seep through the oil seal.

Inspection PR
Crankshaft bearing free play E

1. clean the bearing in solvent and dry it.
2. spin the bearing by hand and check for play.
Replace the bearing if it is noisy or has

TIMING GEAR

-

- PLAY

m

excessive play. @

AXIAL —

Piston pin OD

Standard Service limit

12.994-13.000 mm | 12.954 mm
(0.05116-0.5118 in) | (0.5100 in )

RADIAL






Piston ring end gap

Standard Service limit
0.2-0.4 mm 1.0 mm
(0.008-0.016 in) (0.04 in)

Before measuring end gap, use the piston top to position

the ring so it will not be cocked in the cylinder bore.

Connecting rod small end ID

Standard Service limit
13.005-13.020 mm 13.07 mm
(0.5120-0.5126 in) | (0.5146)

Connecting rod big end ID

Original size

Standard Service limit
26.020-26.033 mm | 26.066 mm
(1.0244-1.0249 in) | (1.0260 in)

Crankshaft pin OD

Standard Service limit
25.970-25.980 mm 25.920mm
(1.0224-1.0228 in) | (1.0205 in)




Connecting rod big end axial clearance

Standard Service limit

0.10-0.70 mm 1.1 mm
(0.004-0.028 in) (0.043 in)

Connecting rod big end oil clearance(Radial)
1) Clean all oil from the crankshaft neck journal

and inside side.
2) Place a piece of plastic gauge on the crankshaft
neck journal, assemble connecting rod, and tighten
the bolts to specified torque.

Bolt torque: 12 N'm

PN ATTENTION

Do not rotate the crankshaft while the

tightening connecting rod bolt

3) Remove the connecting rod and measure the plastic
gauge.

Standard Service limit
0.040-0.063 mm 0.120 mm
(0.0016-0.0025 in) | (0.0050 in)

4) If the clearance exceeds the service limit, replace
the connecting rod and recheck the clearance.

After using new connecting rod, the clearance still

exceeds the service limit, lap the neck journal and

use a connecting rod lower than standard value.

Camshaft cam height

Standard Service limit

IN 27.70 mm Replace under
(1.091in) 27.45 mm (1.081 in)

EX 27.75 mm Replace under
(1.093in) 27.50 mm (1.083 in)

Camshaft OD

Standard Service limit

13.984 mm (0.5506 | 13.916 mm (0.5479 in)
in)

Note the location of the decompressor mechanism,
check to be sure it moves freely.

PIASTIC GAUGE SCALE










COX INDUSTRIES (AUST) PTY LTD
70 Landseer Street

Acacia Ridge Qld 4110

Australia

PH 07 3323 2222 FAX 07 3344 6233

Web Site Address: www.coxmowers.com.au
Email: sales@coxmowers.com.au



